[

886 200 A1

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17
A
— . (2.9) @
A-A Minimaler Abstand
Minimum clearance |
I v
B 0.01 B A
/ °
/
: X I
12x30 70.004 B A - AN —= 70.004 B A
\ \ n
o %0.01BAJ L% 0.01 B A
Anschlusskabel (Zubehorteil)
connecting cable (component part) < < < C
m m m
= @ o) @ Lo =
- — A g IS T Ty g9
S S S .
N\ ® wle ®lel ®o
\
1 1 D
|> _ _
g% I v
\ [
Oz
g ! 7 >
+ [ E
Aulenring nicht als Rotor benutzen! A 2402
Don’t use outer ring as rotor part! iR
A 42.6+0.05 _
Alternative Montagemoglichkeit ]
Alternative mounting option
F
Kundenseitige Anschlussmale
Required mating dimensions
a J @ = Kundenseitige Anschlussmale Required mating dimensions
= Anziehdrehmomente der Zylinderschrauben M5: Tightening torque of the screws M5: N
4,51+ 0,25 Nm 4,54+ 0,25 Nm
Schraube: SO 4762 Screw: ISO 4762
Rz 16 min-13 Schraubenfestigkeitsklasse 8.8 Screw property class 8.8
Rz10 - Scheibe: Washer: G
Kante nicht als Anschlag benutzen ISO 7092-3-200HV ISO 7092-3-200HV
Don't use edge as stopper A V §§ 18 Stoffschlussige Schraubenlosdrehsicherung erforderlich Materially bonding anti-rotation lock necessary
@ // 10.005 4 +‘/ I = Anziehdrehmomente der Schrauben M4: Tightening torque of the screws M4
Rz 16 @ 1 /Rz 16 2,5+ 0,15 Nm 2,54+ 0,15 Nm —
Rg 10 ‘ Rz 10 : Schraube: 1ISO 4762 Screw: ISO 4762
min. 10 _ _ Rz 16 A - .,min. 13 Eé 18 Schraubenfestigkeitsklasse 8.8 Screw property class 8.8
Rz 10 Scheibe: Washer:
@ \ - / B - \ ISO 7092-4-200HV ISO 7092-4-200HV
% | B ; 1 Stoffschlussige Schraubenlosdrehsicherung erforderlich Materially bonding anti-rotation lock necessary H
/ — W
\J—lﬁ“ I | @ = Markierung der 0° Position + 5° 0° position index + 5°
o) @ = Kundenseitige Verantwortung fur Schirmanbindung customer is responsible for electrical shielding )
[ ] @ @ @ = Drehachse der Welle fiir Ausgangssignale gemaf Direction of shaft rotating for output signals
g - © _ %;)? @ T o © g Schnittstellen-Beschreibung as per the interface description
= = o~ | = : . : . : : : :
5 : g o B Py 3 é |l T Q o e = erforderliche Kunden-Anbaumalde zur Ubertragung der Required customer’s mounting dimensions to transmit J
£ © co S g 3 ¢ oo g £ maximal zulassigen Belastungen gemal} den the maximum allowed loads as per the technical data
= = g | E = Technischen Daten
[ i1 | ] @ = optional empfohlene Kunden-Anbaumalie optional recommended customer’s mounting dimensions
P @ = Material fUr Kundenanbauteile: Stahl Material of customer’s parts: Steel
! ! | Re >= 235 N/mm#*2 Rm >=400 N/mm"2 Re >= 235 N/mm”2 Rm >= 400 N/mm*2
1 1 [
] 1 % i A 7 I @ = Thermischer Ausdehnungskoeffizient: Coefficient of thermal expansion
©) ] 5 A y I (10<alpha<16) x 10*-6/K (10<alpha<16) x 10*-6/K K
|11 O L o
. £/ |0.005 15 g < = empfohlene Kraftrichtung; recommended direction of axial forces;
Rotor o m ‘ ! ——— - N wenn dynamische Uberlastungen maoglich sind, if dynamic overloads are possible, the recommended
E Q< ! m @ < g ist die empfohlene Kraftrichtung einzuhalten direction of axial forces must be observed -
(9 o
i - N | s ! 1 _ .
— | < g ~m S 5y @ = Kabelabstutzung cable support
ot S /_/ 10.005 R
Q. e | < otor
B_B @ AN
@ - N | min.1.2/ max. 3
0| < T D rumber: 1282441-01
To R Change No. C080358-25
X . . ' . . @\ Phase: Serie
21 Montageflachen und Gewinde mussen sauber und fettfrei sein o E‘@ Original drawing MRP 8110 m. Zusatzplatine Tolerierung nach DIN 1SO 8015
' Mounting surfaces and threads must be clean and free of grease Stator — ¥ | sele | Fomat MRP TO'eranc_esas per DIN 1S0 8015
@ Dlmegqsrfns " 1 :1 A1 Anschlussmale / Mating Dimensions glgzrpael}lgﬁliSI%OZ%Si;wT-IHééanTnTiiO%Z
The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited.
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )
HEIDENHAIN ‘Version ‘Revision‘Sheet Page
DR. JOHANNES HEIDENHAIN GmbH D1 282441 'OO - B'O1 c}f
1 2 3 4 ‘ 5 6 7 8 9 ‘ 10 11 12 83301 Traunreut, Germany Document number 1




	Blatt 1
	Ansichten
	new_view_1
	links_2
	links_3
	X
	new_view_6
	new_view_7
	new_view_8
	new_view_9
	new_view_16



